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Solve the following division problems by using the method of 

repeated subtraction. 

1. 12 ÷ 3 =                     2. 20 ÷ 10 =                      3. 35 ÷ 5 =                       

 12-3 = 9 

  9-3 = 6 

  6-3 = 3 

  3-3 = 0  

So, 12÷3=4 

Since 3 is subtracted 4 

times to reach 0. 

 

 

4. 24 ÷ 8 =                   5. 63 ÷ 9 =                       6. 45 ÷ 15 = 

  

 

 

 

 

 

7. 16 ÷ 2 =                   8. 16 ÷ 4 =                        9. 35 ÷ 7 = 
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1) 4          2) 2          3) 7          4) 3          5) 7          6) 3          7) 8 

8) 4          9) 5 

 

Answers 


